10

1.z

Ratio
=

ulPt
Std Dev 1.459
Constant 0.06929
Mean -0.04176
‘Lsigma 1.063
pullPt
Std Dev 1.479
Constant 0.06908
Mean 0.02327
Sigma

1.092

u

Std Dev

Constant
eal

1.473
0.06926
0.03157

Std Dev
Constant
Mean

Sigr

1.485
0.06878
0.02385

1.097

[ pull of goverp parameter |

Ratio
=
e

ufoover,
Std Dev 1.548
Constant 0.07011
Mean 0.0057
Sigma 1.066
pullooverp
Std Dev 1.531
Constant 0.06878
Mean -0.02324

Sigma 1.097

Std Dev
Constant
e

1.528
0.06894
0.0.

pullQoverp

Std Dev 1.533
Constant 0.06847
Mean —-0.02046
Sigma 0.

107}

1072

1073

10

Ratio
=

pultPhT
Std Dev 1.

422
0.0657
-0.00754

1115

pullPhi
Std Dev
Constant
Mean
Sigma

Constant
Mean
Sigma

1.425
0.06709
-0.02622
1135

0.06672
-0.02697
14

Constant
Mean
Sigma

107}

1072

Ratio

Std Dev 1.455
Constant 0.07034
Mean 0.02781
‘LSigma 1.037|
pullDxy
Std Dev 1.48
Constant 0.06802
Mean 0.03752
Sigma

0.06776
0.02947

Constant

pullTheta
Std Dev 1.475

N N . . . | Constant 0.06365
... : bt Mean —0.004832
E . . <" ’LSigma 1.147
E . . . pullTheta
L . . .| Std Dev 1.428
H . ' Constant 0.06455
o . . Mean -0.02269
H H Sigma 5
-2 .
10°E
-3
E 1.421
10 = Constant 0.06424
F —-0.02186
T N L L I A S
107°E
o
3= F
5 i
@ [
0.5
-10 -8

107}

Std Dev 1.969
Constant 0.06019
Mean -0.01497
‘LSigma 1.162|
pullDz
Std Dev 1.728
Constant 0.0622
Mean 0.01211

0.01554

Std Dev
Constant
Mean
Sigma

1.724
0.06206
0.01349
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